'L AL|C

- 1. 24

10~11%
1(1)3,90 (24, 80
3 (166 (296

5 (RIEE) 72, 54 6 >
13% 1 e | Wb JHE
1842 2 686 3 888
4L 826 5 666 6 284
7 699
15% 12 [ wakA JHE
1 (Y5E) 60, 300, 372 2 1,975
3 2, 868 4 4,590 5 684
6 456 7 957
16~17% 2= | i E= A5
1 333 2 426
3 844 4 993
5 862 b 666
7 484 8 806
9 804 10 824

11 ($15H) 20, 400, 432
13 472

12 (RI8E) 12, 900, 972
14 858

1 510
3 (YI5E) 3000, 100
5 930

Speed Answers

1= | WOt 7S

2 880
4 900
6 2760

15 650 16 951

17 384 18 674

19 595 20 (RI5E) 378, 252
19% 1 e | Wb JHE

1 (YEE) 300, 5400, 5706

2 2. 819 31,1926 4 486

5 2387 6 2128

22~23% 2= | HE &S AHE
1 60, 2100, 2169 2 2.1000, 1082
3 1, 4655 L 2. 3448
5 5, 2946 6 348
7 879 8 2448
9 3655 10 1749
11 15, 1500 12 48, 480
13 600 14 630
15 1290 16 1200
17 420 18 1060
19 5600 20 1400
25% 1 e | mupA JHE
1 (IZEE]) 160, 192 ; 3, 192 2 108
3 210 4L 216 5 170
6 175 7 144
27% 1 e | DA 7HS
1 (RIZEE) 370 ; 74, 370, 444
2 46, 920, 966 3 78, 260, 338
4 325 5 996
6 378

>
1=l

n
0
i

L J
—l



28~29%

15, 100, 115
2,224

189

405

280

640, 768

13 676

15 210

17 552

19 255

- N0 N Ol W -

3Nz

1 (RIZEE]) 1230 ; 1230,
2 1400, 1610

4 252, 840, 1092

6 5624

3%

1TMm7d @7, 924
3 30, 1950

34~35%

1 168, 1120, 1288
3 1525

5 1575

7 1350

9 2074

1 30, 900

13 2,634

15 7, 896

12 52, 260, 312
14 576
16 324
18 945
20 336

1= | WOt 7S

1558

3 378, 1080, 1458
5 1440

7 5355

1= | WA 7S

2 30, 1200
4 39, 1131

2= | i E= A5

2 308, 1760, 2068

4 2002

6 1551

8 1472

10 (RI5E) 1232, 1008
12 4, 880

14 3, 2016

16 6, 828

17 26x14=364 ; 364%
18 24 x53=1272 ; 1272cm

N
1
Jd
¢
N

36~39% e | Q151 Q|
1 648 2 (M2H) 85 30,10 200; 654
3m 4 2 5

7L 470

x| 6 X 8
4 100
5(1)324 (20584 (3)552 (4) 1620

6 1800, 1740, 3420
7 (RIZEH) 4, 780, 104, 884 ; 104, 780, 834

8- 7 >
10 O, ©, ©
7 360 480 = 306
246 460 946
406 939 486
12 26 13 1020 kg
X 57
182
1300
1482
14 (1) 4871 (2) 6727}

| 40~42% |

4=n | T "It

1 456 2 150, 1000, 1150
ST 4 ($12E) 900, 10
31214

X | 13
972
5 3688 6 5336
7 2310

8 (%12H) 600, 900 ; 700, 1050



09 () 10
(O) ><
11 ® 12 >
13 864, 2592 14 874 x5 ; 4370
15 0, ©, 0 16 49
X775
245
3430
3675
17 87074 18 7
19 2450H 20 132x4=528;528%5=
L3% AASZ SESE
237] Al
B4 A olg ojo|
T BAR.
1) 132 5) 4
X 3 OXBS
396 152
2) 228 18
2 A
684 36 36
90 900
126 936
/3/ 374 174
zé X 2 ,zﬂmwmﬂm
748 40 X 50=2000
4) 821
Ox 4 @24x30:720
3284

Speed Answers

535 @3,3

| 49z |

1 | Wt 7S

1 (M2 (220
3 4,40
510

%1%

21,10
4 10
6 30

11 | Wt 70

11288
315
515

| 52~53% |

212

2 35
4 15

01 30
03 2, 20
05 1, 10
07 20
09 10
11 15
13 45
15 12
17 16

|>

1=l
n
02
il
L[]
w



55 %

1 (YEE)N3:3;9;0
2 (Y2EN1:6:250

1= | WOt 7S

323 411
512 6 21
7 43
57% 12 [ Wk 70

1 (¥2E)1,6:4;2,4;0
2 (Y2E)1,7:4:1,4:0

313 4 23 5 24
6 28 7 18

58~59% 24 | S E=E HES
1 (212E)2,1;6:3:3
2 (Y12E)3,4;6:;8;8
311 4L 32 5 14
6 22 7 31 8 21
9 REEE)7/9:;7;2,7;0
10 (RIBEH)4/7;4;1, 450
11 13 12 14 13 14
14 19 15 24
16 (RI5£E) 48, 24

Y ES 1 e | matA 74

1 6 2

5) 3 3 7) 5

8
EH?X

381 4L 43
596 671
773

63% 12| Wk 70
1 (RZEE)4/3:4;1,2;2
2 (RIZ5E)3/8;3;4,0;3
3242 4 281 5153
6115 7123
64L~65% 29 | JlE E= o
1 (Y2E)7;6,3;5
2 (¥I5E)9:;7,2:3
77 2 8 8,7
9 (RIBHE)5/8;5:2,4;1
10 (RIZFE)8/2:8:1,4;:4
11 163 12 131
13 183 14 135
15 36, 1 16 13,4
67% 12| Wk 70
T (AZ8E)2/5;2;2,5
2 100 371 4 197
5 160 679 7 77
69% 1 e | WM 7HSE
1 (RIZ2E)0/0,1;4;1
2511 32011 4L 733
5725 61243 7 641



n= 121 | WA JHg
12, 17 21,29
313,3;13,3 414, 1;14, 1
515, 2;15, 2
72~73% 2 | T EE AL

1 (2E)0,0;9;0

2 (Y2E)5,3;1,0;6

3 98 4 91
5 82 6 87
7 (Y2E)3,5;1,2;2;2,0;3
8 (YI2E)1,0,0;3;2

9 202--2 10 695
11 524 12 76 -2
13 1043 14 18, 2; 18, 2, 56

15 11,611, 6, 83
16 15--3;6x15=90 = 90+3=93
17 14--4;5X14=70 = 70+4="74

74~T77% Jeon | 2SI 157
1 (1374 @230
’

3) 6 9

6 0 %3><

9] o3
0]

3 R, LHX]
20113 (335 (416

4 (1)32 (
5% 6 <

Speed Answers

7 16 8 (1)130 (2199
452 7 (3200 (4) 1552
27
2.4
3
9 499501 OF

10 (1 17,1,;17, 1,35 @210, 2; 10, 2, 52
"n>L
12 340+-9=37--7; 37,7

| 78~80% l 4= | T

1

rie
0l
|

[2])[24]

2 25

3 (91¥H)6,3:8:;3,6;2;1,8;5
L 66 515

6 10 7 27,2

8 ® 9 28, 14
10 > 11 @

12 [ =6, =701 O
13 12-1;6%x12=72= 72+1=73

4% 15 15 ©
6522 16 14
39 17 At2t
30
2
18 60+4=15; 15&
19 2374, 274 20 1174
81% AAS SRS
10;0
2 X, 15 ;0 30;x 126
4)6 2 4)5014
4 4
22 10
20 8
2 24
24
0



o 11 ME cn Es MR uo
s 3.4 .
i 12 M2 ce EEME =T
13 10 cm 14 14 cm
| 84~85% l ZH| 8l& 15 9cm 16 4cm
1T(O)(x)(x) 2 (H2E) H =2xI-
(xX)(O)(x)
3Mx @0
4 (1)ANE L EE ME L
@ &N ce E= XM ac 93= 1e | matM i
5 8 mm, 8 Z2|0|E 6(1)84 (24,2 103N @1 @ o
2 N\

87% 1= | Wtk 7HE
T34 8x1E 28 3™
4 o

| g9z | 1en | Wby JHE
1Mce E=src Qua L= a2c
2 3cm 3 6cm 42
95% 1eot | matM 7o
90~91% 2= | i EE AL
01 X 02 (ABRE]) B, YiXIZ
03 9cm 04 10 cm
0599 06 11,11
07 16 08 20
09 10




Speed Answers

| 96~97= | 2e | 4 TE 5 07 o LB ant
/
01 ( )(O) \ "
02 ( )(O) - ' /
03 ( ~N ] . -
09 10 — ~
\ o/
\
[\
N~
A o " R 12 I
04 ( ~N A
TN
N N
B =tz 14 oo
N 7T NN
Ny A
. ) 5 %
ARYANED NN VANV /Y
05 ( ) LN XX A
- J
06 ( ~N
| 98~101% | 3en | 4l 25|
01 / \
. J 02 %94 Az
.%494 e
g [ 4
03 &v 04 174




| 102~104% | 4= | TR HIL

01 &Ec 02 ©

03 bcm 04 8cm

05 (1)(3)(2) 06 5

07 @ 08 ®

09 o 10 ( )

A
&

1M1 © 12 &2 13 32cm
15 3=
17 ©,0, ©

11 (}%E)
2,4




- 4. 25

| 108~109% | FH| a5

1(x)(O)(x)(O)
2 (1)%, 45t0| 1 <2)%, 2o

L()> < 5 2
6 %on OE,%OH s

| m= |

1= | Wt 7S

NOANIIC 28
A

‘cedecdess):

113% 1 e | WtM 7HE
2
1 23 34
_,, 2
|114~115§| 21| JiE S A5
011 02 2 031 04 2
1 5 3
05 5,4 06 07 08
6]
1 1 3 4
093 105 1" " 12§

| 175 |

1= | WA 7S

o o 90 K & )
IR COEEINED

23 32
4 8

Speed Answers

1= | Wt 74

170 1 2 3 4 5 6 7 S8lm

24 3 4cm 4L 6 512

| 120~1215—5.| 21 | g &F A5

01 2 02 6 03 4 04 8

05 3 06 6 07 4 08 12

09 2 10 4 116 12 18

13 3 14 12 15 4 16 20

| 123% l 1 e | WM 70

1z 2 7} 3 7t

4 Xl 5%l 6 7t
134

7 5 5 ol O

1 | ot 74

1 5 1
124 277 33 416
| 1272 | 12| wubM 71
S i o e i S IR AR
A ey 1]
(2 2oz OH, <
2 < 3 < 4 > 5 <

|128~1295—5-| 2= | I8 E=s HE
01 % 02 % 03 7t 04 %
1 9 1
05 7} 0624 07 08 &
8 19 1 3
09 5 10 % nis 121
13 2% 14 > 15 < 16 >
17 > 18 < 19 < 20 >



130~133% Fen | U5l Ol5]7| - 5. 5012 2 .
1 0 3
(1) 3 (3)3,
(140~141% | =t st
10 )(O) 2 8o, ¢
26,@ 36 4 3( )O)C ) 4(2)(3)(1)
5013, 72 (28, 34
5(1)6 (224 6'. 6 ()2, 45 (204,25
@ @ @ @ 7 @2 5cm 4 mm, 5cm 4 mm
et 34 ||t
8 1l 9 <

3 [ ou3z | 1o | TILM 74
1O

10 (O)(x)(x)(O)
2@

11 >, SLicholl O 12 (1) 40 (2) 60

7 8 2 4 3M5 @2 @3
(2)5 (3)17 (4)16

13 (1)6
14 1> 2> Q= @<

145% 1en | wmatM JHE
| 134~136% | 4= | THR] Ty} 1 :::::::::::::2::: 2 2l
11 2 % 34 2 Bod* g —
4 3,2 5 4 6 16 m" ...
5 3 6000 4 5600 5 3, 200
7(O)(2)(O)(Aa) 8 2+
5 1 2 3
95 10 274 1" VRl
< | 146~147% | 2 | 74 EE SIE

12 13 > 14
% 1 24 2 o4

15 (QIE) 1%%3 16 %OH O 3@ 4@
. 8 18 e 5 8.6 6 Xt
8 7(0)C )C ) 8(O)( ) )
19 15cm 20 308 9 y 10 OO """ X
- 200m1
11 3 =74\
(U 111
| 137% l AASD SHEE 12 5 2| 13 2 2|Ef 400 Z2|2|E
1 67 2 374 14 8000 15 1000, 1800
14 .3 14 16 1000, 1 17 1600
9.|5§_|$|_ =~ 1 =1
3 (@RS 1y 4 18 2. 400

10 #3t3-2



149 %

1T mLo OF
3 1600 mL

191 %

1 5,500
3 4,200
57,900
7 2700, 2, 700

)
)
)
)

5 mLo| OF
7 Lol O

9 1400 mL

11 5, 600

13 8, 900

15 6400, 6, 400
17 3,100

19 5, 300

155%
10060 2 =

1= | WOt 7S

2 Lo O
4 2400 mL

1 e | Wt 744

2 6,900
4 6,600
6 3800, 3, 800

8 Lol OF
10 1200 mL
12 11, 800
14 7, 500
16 2,500
18 5, 100
20 4300, 4, 300

1= | Wt 7S

3 7%

1= | WA 7S

158~159 %
(o) )

=271
Gt
3
474

O N Ol W -

13 4kg
15 5000
17 9, 800

161 %

1 kgoll OF
3 tol O
5 kg

163%

17,700
3 6,300
5 5,600
7 6,100

164~165%

100 ) ( )
3 ( ) (O)
5 g0l OF

7 kgoll Ox
ARSIVN

11 7, 600

13 9, 500

15 20, 700

17 2, 500

19 7, 300

Speed Answers

.40 2277

, 200 134

O =

14 700 g
16 8000
18 2008

1= | WOt 7S

2 g0l O
b g

12 | WA 7

2 5,500
4 5,500
6 6,600

2= [ JE ©E BE

200 ) ( )
4 ( ) ( O)
6 kgofl O®

8 tol O

10 =72

12 8, 800

14 14, 950

16 3, 100

18 6, 200

20 2,500

[>
=]
In
0z
o

L]
—_
—_



166~169% Fem | QUBIE 0157
1®, 0 0,0 2 (1)(2)(3)
30,2 4 (1)2 (2400

5 (11,400 @1 6 %

7 2500 mL 8 (1L @ mL

9 ©, @ 10 (1) AR} (2 HIEE
11 3,900 12 2,300

13 1, 400 14 1kg 500 g

15 o Aratet B Sofl Azt o 714, HHiet 2 Sof 20|
Cl 7IHSEZ Attt 29| FHE XMES AEsto]
H|wgfLch.

| 170~172% | 4= | TH Tt
110& 2 =29
33 4 600g
5 350, 8, 350 6 750, 3750
7g =Y
9 7,750 10 2, 600
11 6kg 380 g 12 9kg 300 ¢
13 Atz 719, 6 14 ><
15 > 16 2600 mL
17 ©
18 o) B0|H2| S0|= 2 180 mLYLCH.
19 2900 g 20 4800 mL

| 1732 |

1 X 2 O
L X 5 X 6 X
7 O 8 x 9 O

12 #8t3-2

- 6. Xtz Fe

| 176~177% |

1 ot7|  mofcHolE =3 J|EF A
St ~(H) 4 1 3 2 10
2 h o
3 O @)
2 o) o) o)
1 o) o) o) o)
Sp
(H) 71l gt | gEo| b TR}
S0 EE M| X2l fguyAkdy A
St ~(H) 3 4 1 2 10
4 o)
3 o) o)
2 o) o) o)
1 o) o) o) o)
P
(@) . | U Exiel 2o Asge
S
LE
179 % 1 e | matA 74
1 209 2 34 3 MERH 4 49

181%

12 | oA 74

1 o Z={o|y| gt sHli=0[ E0fshs At

2 AbDt EE HHLML} =)
A WA Al

SMAE 5 5

3 5%
I OHRLILE =7 &4
8 9 27



Speed Answers

182~183% 2 | Y RIS & 2 =z 2 M
1 4% 2 143 3 oA} NN EEY.V.V.V
4 A 5 20% 6 2% 4 Oasaaa
7 2R E5 M o™ 8 1Y o Od0Oaaa
- — 10X}
9 B3 E7Z =T ORI HRE W 4 0000 0
TH=(7H) 5 3 6 2 16
10 =y AS B ABE 03 &M
St (") b5 7 S 3 20
1 Alzt wzh oo g =2
St (") 5 8 7 4 24
12 TAl OIKF  x|7] SHHH mEQ| 3t
St ") 9 7 4 5 25 :
1 1030| 2 130|
3 3280]| 4 24t
5 100&Kt 6 104X}
7 2204%t
8 3d 0=
9 103, 180 O%
0 o zHo| 4
¢ OOO0
185% 1 e | matd JHE 7 |O0O00Ooooooo
1 10012, 10t2| 2 3402 8+ [DOO00ooo
3 HIZ S& Ms (DO00O0Ooo
Owza Oz
11 M=
2] oe s 4
g2 | ©O 0000000
24 | ©OO 000000
g4 | © 0000000
s | 000
H [=3]
187 % 12| WA 7 Que o1
1 3= DN B Thof
et
20f ©OO 00000 AAAArrAA
ks
2% 000000000 AAAAA
) g2t | AAAanannan
st | © O 00000000
) O 103 A3 | AAaranansnnn
Azl | OO 0000000 o 13 Al A
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E
In
o
o

[ ]
—
w



190~193% Fan | U3IE 015|7| "o o= 2o 28 o M
S ~(H) 5 7 8 10 30
169 2 594 3 19% oul o
L LE REAL R w 12 1347}0t 13 24 ote
7io =2
5 6 Z7i0|L| g SHAES0| S0tsHs 7HA 14 19710t 15 24
6 = 16 e HiLES 2~
2 mR w9 W g
S 10 5 7 8 30 88 ©©©o00000
7 10H, 1# 8 OO OO0 Oo
8 70, 463, 23H A4 © © o000

9 =3}, 1540|
10 Ztdlo|Md

2 OO0 O00O0oo

©Ouaz O1az

1 == 1 -
25 57 Iy 7 o 17 A TI49L B9 TR, B4 TR AN B9
dHMAE® 4 2 3 6 15 18 10
(=10 4\_(%4) 2 7 3 1 13 19 o= 2Ho| &
12 @) 10 kg2t 1 kgl 274X|2 LIEI= 0| £22 A &2 _
N #2  [Opooo
&Lict
1B =5 9 Mat A= 000
! 0000 O®oO0 215t oooooodaoo
4 ©0000 &2 | [Opgopoooo
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a3t | ©@OOooo0 O 1kg 20 X
14 7t =%, LU =Y 2t =28, o =%
1972 AAZ B

1 AH72E Bk =T ozt st

|194~1965é. A | TR T} Mz 24 =g =5 og g4
70
249]

2210l A0K) 8 15 13 11 47
1 5% ,
- _ Az syl +
20 22 24 57 29 =7 =
SIME) 5 3 4 2 14 E C©C0C0000
3 33 4 14% =% |(Qoooo0o0
5 ZH7| 6109, 19 22 |©Qoo0o0
7 413 8 S8 B¢ | (© o
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0z

t2oll M HYEO|Lt FSut 22 Cidfet &4
UAFLICE o] HHoME o 71X SHE
Akt He2| HHE 25| Chet Mol 28

o
Sot0] g Mol S0t 22HE EHE HEE + U

10~11% ZH| ot

ro
o
)a
1> o> il

n o 4 ox s (&
o
Ha
]
Ral

1 (13,90 (24,80
3 (166 (296

5 (YEE) 72, 54 6 >

1T )A 2ol 97fjo] =& 30 x 3=90Y Yt}
(2) Al Hgo] 87)o]| B & 20 x 4=804 Yt}
4 21 52 62

X 7 X 2 X 3
147, 104, 186

3 2

1 1

X
7

X
5)

DN |~ OO
> | oo

6 24x6=144, 45x3=135
= 144>135

1= | Wb 7S

18,42 2 686 3 888
4 826 5 666 6 284
7 699

1 48} 25 Fsto] do] Ao, 2¢F 25 Fsto] 419
Agof|, 137} 2& Fsto] w o] zpa]of £t}

5 111 6 142
X 6 X 2
666 2814
7 233
X 3
699

1= | b 7HE

1 ($1EE) 60, 300, 372 21,975
3 2,868 4 4,590 5 684
6 456 7 957
5 2 6 L
114 228
X 6 X 2
684 456
7 2
319
X 3
957
- ;9—' _____________________________________ A}

2o| xf2oflA| L3t 4
Aol Eisof ek

smmEmEEEESN
| TSR

2= | g HE o

o>

01 333 02 426

03 844 04 993

05 862 06 666

07 484 08 806

09 804 10 824

11 (|I5ED) 20, 400, 432 12 (2H) 12, 900, 972
13 472 14 858

15 650 16 951

17 384 18 674

19 595 20 (912H) 378, 252

¥ U =2o0l- 15



<

[ =2t g 2ol '/

09 201 x4=804

10 412x2=824

2= | g BE A

>

01 60, 2100, 2169

02 2,1000, 1082

18 1 19 4 03 1, 4655 04 2, 3448
ng; xllg 05 5, 2946 06 348
674 595 07 879 08 2448
09 3655 10 1749
00 106 196 11 15, 1500 12 48, 480
X 3 X 2 13 600 14 630
378, 252 15 1290 16 1200
17 420 18 1060
Jen | Do gy 19 5600 20 1400
1 (S1EE) 300, 5400, 5706 1% 21 21
2 2,819 31,1926 4 486 X 3 X30
5 2387 6 2128 63 630
15 43

1 951X62& 1%6, 50%6, 900 X 62 AAFste] B3t
Utk

X 3 = X 30

129 1290

17 14 x3=42 =) 14 X 30=420

18 53x2=106 = 53 x20=1060

19 70 X80=5600

20 35%x40=1400

1= | Wb 74

1 (RIZBEE]) 160, 192 ; 3, 192 2 108
3 210 4 216 5170
6 175 7 144

1 8x24% 8x 49} 8 x 202 AAksl] gt}

4 1 5 2
162 341
X 3 X 7
486 2387
6 1
532
X 4
2128
21% 1@ | Wty 7HE
1 510 2 880
3 (RIEE) 3000, 100 4 900
5 930 6 2760
1 17x302 17 %39 108y},
2 22X40222x42] 108},
3 50%x6025x62 10081y
5 31x3=93=31x30=930
T 5
104}
6 92x3=276>92x30=2760
T f
101}

16« +3t3-2

4 3
9

X 24
216

6 3
7

X 25
175

2

X
w
> o

—
N
o

X
e
o0 o0

—
S
S



1 | Wb 744E

1 (RIZEE) 370 ; 74, 370, 444

2 46, 920, 966 3 78, 260, 338
4 325 5 996
6 378

1 37x12% 37 %29} 37 X 10S Ak gy
2 23x29}23%x40& AArste] BTt

3 26x31} 26 %10 AAst] Egyct,
4

13 5 83
X25 X12
65 166
260 830
325 996
6 14
X 27
98
280
378

2= | g S Ag

01 15, 100, 115 02 28,70, 98

03 2,224 04 1, 256

05 189 06 258

07 405 08 324

09 280 10 423

11 640, 768 12 52, 260, 312

13 676 14 576

15 210 16 324

17 552 18 945

19 255 20 336

09 4 10 6

8 9

X35 X 47
280 423

13 52 14 24
xX13 X 24
156 96
520 480
676 576
15 14 16 12
x15 X 27
70 8 4
140 240
210 324
17 46 18 45
X132 X 21
92 45
460 900
552 945
19 17 20 24
X156 X 14
85 96
170 240
255 336
31% 1= | watkA 7HE

1 (RIZEH) 1230 ; 1230, 1558

2 1400, 1610 3 378, 1080, 1458

4 252, 840, 1092 5 1440

6 5624 7 5355

5 45 6 76

X 32 X 74
90 304
1350 5320
1440 5624
7 63
X85
315
5040
5355



<

-EEE-N e

1 | Wb 744E

1TM7¢€ (27,924
3 30, 1950

2 30, 1200
4 39, 1131

1 (@ (33 3 45) X 7=132 X 7=924(7})

N’

3 AbAfol| T 7ho] 47) x (AAFY] &)
=40x 30=1200(7})

gk o] 70 atutke] ) x (MY )
=65x% 30=1950(7}))

F 5o Bof Qe &2 )X (B4
29%39=1131(})

N
—

w
~—~

Lo
ol

2= | g S AE

01 168, 1120, 1288

03 1525

05 1575

07 1350

09 2074

11 30, 900

13 2,634

15 7, 896

17 26 x14=364 ; 364%
18 24x53=1272 ; 1272cm

02 308, 1760, 2068
04 2002

06 1551

08 1472

10 (YI5Ef) 1232, 1008
12 4, 880

14 3,2016

16 6, 828

18 #8t3-2

04 26 05 35
X777 X 45
182 175
1820 1400
2002 1575
06 33 07 54
X 47 X 25
231 270
1320 1080
1551 1350
08 46 09 61
X 32 X 3 4
92 244
1380 1830
1472 2074

10 56 56
X 22 X 18
112 448

1120 560
1232, 1008

1 (AF 3k 709 4h) x (AF AFe] &)
=30 % 30=900(%)
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3 1L=1000mL => 6 L=6000 mL
4 5L 600 mL=5000mL+600mL
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5 3200 mL=3000 mL+200 mL
=3L+200mL
=3L 200 mL

146~147% 294 | Vg &F A5

01 24 02 294

03 @ 04 @

05 8, 6 06 FZIxt

07 (O)C )0 ) 08
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11 3 7.4\
() 111
12 5 2lgf 13 2 2l 400 Lal2/E]
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16 1000, 1 17 1600
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12 5L= 5 e eyt
13 2L 400 mL= 2 2]€] 400 elglE2tar ¢j5utt,
14 1L=1000 mL =»> 8 L=8000 mL

16 1400 mL=1000 mL+400 mL
=1L+400mL
=1L 400mL

17 1L 600 mL=1000 mL+600 mL
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18 2400 mL=2000 mL+400 mL
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=2L 400 mL

1 | wapM 744d

1 mLoj O 2 Loj O

3 1600 mL 4 2400 mL

1 7HHe] So|= 1 Lyt o g mLa ey
ch,

2 1mL+= of¢ A2 olER 7§39 Eol= L&
UERHU T,
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4 H)A| &7 Bo] BE 2400 mLo|EE EE9|
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i

1 | wapM 744E

1 5,500 2 6,900

3 4,200 4 6, 600
57,900 6 3800, 3, 800
7 2700, 2, 700

1 L= L719 g8k, mL+= mL7]e] gy,
3 L:L7)8 i, mLE mL7|g] Wy},

5 3 L 400 mL
+4 L 500 mL
7 L 900 mL

6 2500 mL+1300 mL=3800 mL
= 3800 mL=3000 mL+800mL
=3L+800mL
=3L 800mL

7 5700 mL—3000 mL=2700 mL
= 2700 mL=2000 mL+700 mL
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=2L 700 mL
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07 Lol O 08 Lol O
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2 Lyt
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14 3 L 200 mL
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7 L 500 mL
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19 12 L 500 mL
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= 4300 mL=4000 mL+300 mL
=4L+300mL=4L 300 mL
155% 11 | @b 7
10900 2 = 3 7t¢
1 5718 A%E i Wk g S A
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13 AL vis0] 4 kgl 7fe]7|ng Srufo] L=
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1= | Wb 74d

1 kgOl O 2 gofl O%
3 tofl O 4L g
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5 3kg 500¢g 6 8 kg 900 g
+2kg 100 g —2kg 300¢g
5kg 600 g 6 kg 600 g

7 7 kg 500¢g

—1kg 400 g
6 kg 100 g
2= | i ©HE HE
100 ) ( ) 2(0) ( )
3 ( ) (O) 4 ( ) (O)
5 g0 OF 6 kgoll OF
7 kgol O® 8 tol OF
9 O|xt 10 Z7|2
11 7, 600 12 8, 800
13 9, 500 14 14, 950
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19 7,300 20 2,500

1 180 kg2 Hzote] AR Agsir] Fong Ha
o}e] FAI= oF 180 glYtt.

3 3 g2 ofF 7HHE FAo|unR FFolr| ] FR-A=
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4 4 g2 ofF 7ML EAo|ng sluto] ERA = oF
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14 8kg 750 g
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9 0@
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4 (1)2 (2400
X
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14 3kg 6002g—2kg 100g=1kg 500 g

15 s~ inl‘J_'_ _____________________________________ )
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33 4 600 g
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7¢g e
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13 Azt 719, 6 14 ><

15 > 16 2600 mL

17 ©

18 o) 0|22 £0l= 2F 180 mLYLICt.
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o o1 N~
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